
PARTER

00 1 2 3 4 5m

INWESTOR:

TEMAT:

PROJRKTAMT: Anna Golik

BRANŻA:

ARCHITEKTURA

SKALA:

1:100

NR RYSUNKU:

2

ul. Łężyca - Inżynierska 8

66-016 Zielona Góra

OZNACZENIA POMIESZCZEŃ

NR NAZWA POMIESZCZENIA

1
DYŻURKA LEKARSKA

2
LEKARZ DYŻURNY

3 WC DLA PERSONELU

4
ŚLUZA

5 SALA INTENSYWNEGO NADZORU

6 ŁAZIENKA

7 BRUDOWNIK

8 DYŻURKA PELĘGNIARSKA

9 SALA CHORYCH 1/11

10 ŁAZIENKA

11 SALA CHORYCH 1/13

12 SALA CHORYCH 1/14

13 ŁAZIENKA

14 SALA CHORYCH 1/16

15 GABINET ZABIEGOWY

16 SALA CHORYCH 1/18

17 ŁAZIENKA

18 ŁAZIENKA

19 KOMUNIKACJA

20 SALA GIMNASTYCZNA

21 MAGAZYN

22 GABINET ODZIAŁOWEJ

23 KORYTARZ

24 POMIESZCZENIE 1/26

25 KUCHNIA

26 JADALNIA

27 KORYTARZ

OZNACZENIA POMIESZCZEŃ

NR NAZWA POMIESZCZENIA

K1 KLATKA SCHODOWA

K2 KLATKA SCHODOWA
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